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12. B 

14. D 

16. A 

18. D 

20. B 

22. T 

24. F 

26. F 

28. F 

30. T 

32. (a) 11102       (b) 1111102       (c) 11110110102      (d) 10110110000002 

34. (a) 420    (b) 67  

36. (a) 564    (b) 4397  

38. (a) 12F16       (b) 100F16 

40. (a) AAA16         (b) 0FCD616 

42. (a) E816       (b) 1FF16 

44. (a) 000010102 (b) 001010112 

46. (a) 001000102 (b) 101001112 

48. (a) 000101112 (b) 100010012 

50. (a) 0.10112 (b) 0 .00012 

52. (a) 100000.01102 (b) 1000011111.00012 

54. (a) 100010002 (b) 011110112 

 

56. 2
7 

X 1.010101 

(a) 43794000 
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Challenges 

2. (a) 1210   = 1Y12                (b) 56310 = 3XY12       (c) 283210 = 178012 

4. (a) 1101101010110110 

(b) (2
x 

- |N|) = 2
16 

– 9546 = 55990 

5599010 = 11011010101101102 
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